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OLMEZ ST2E 22t 29 4,560
ONRESLLUEIRY 30,000& x12& 360
0 RAUBHIAIAE =8 350,000& x12& 4,200
o294 6,440
0 S MIESHIIMN ARG &AM
70,000& *3021 %24 3| 5,040
0 2 ME=> SXII=EXEE
70,000& *221x103] 1,400
OS2 (2 HYLF=X) 7,000& x321 %70 1,470
02 332494l 24,960 24,780 180
03322 ¢ MA 24,960
0.2 H&E D] oA 2 A 40,000& *54 M A 2,160
o.gglgaed 7,800
odIIR2 600,000& x12& 7,200
oML HYUAIES 50,000& x12& 600
0.4HEEIE2 2 9,240
odIIR=2 600,000& = 12& 7,200
oXSIY A OIHUY = 50,000&*12& 600
DML AES 10,000 x12& 120
oSt RE T 110,000& = 12& 1,320
0 MEZ SIS 2 2Y 5,760
odIIR2 400,000& x12& 4,800
o MSILOIHYAIE 2 50,000& x12& 600
OMFTANES 30,000& x12& 360
202 (48] 4,680 3,600 1,080
01 2L Y| 4,680 3,600 1,080
O MIE 20| 130, 000& *321 x12& 4,680
206 M =8l 3,805 3,400 405
01 X &2 bl 3,805 3,400 405
SSHEE & 22 3,805
0.3 24l 400& 5,000 m* 2,000
0.2 =% &ldl 3,700 x150 %L 555
0.2a34Hld 25,000 *30H 750
O.HM=NHYLEMNES M= 2 500,000& 500
307 QI2t0| ™ 7,000 37,000 A 30,000
05 A2t E = 7,000 37,000 A 30,000
O=SHFIAIZS 29 7,000,000 7,000
SE25T AABAHK RS 63,434 64,850 A 1,416
= 38,060
= 12,687
= 12,687
101 @1 24| 54,434 64,850 N 10,416




2AMd: 2322
M Foms 2E2L
el AHEXIXIZ S 435t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 32,660
< 10,887
e 10,887
04 JI2ZtHZ22HEE = 54,434 64,850 210,416
OSIAUHEE 222 54,434
0.Jl2=s 75,4403 #2021 x232 35,005
= 21,003
< 7,001
s 7,001
00122 49,5613 «121+3002 14,869
= 8,921
< 2,974
s 2,974
0.40H2& & 3,940,000 3,940
= 2,364
< 788
[ia 788
0.wW=Hl 620,000 620
= 372
< 124
s 124
201 £B-2d| 9,000 0 9,000
= 5,400
< 1,800
s 1,800
01 At 22/l 9,000 0 9,000
oget2dHl (&) 9,000,000 9,000
= 5,400
< 1,800
s 1,800
EMEE 22HI XA 37,102 31,740 5,362
= 22,261
< 7,420
e 7,421
101 @124 dl 28,442 25,260 3,182
= 17,065
< 5,688
e 5,689
4 D12t Z2REES 28,442 25,260 3,182
OFTEe=S oxg 40,0008 x302 * 12 14,400
= 8,640
= 2,880
s 2,880
OFstHEY 2| A2 30HA+4,134,0003 12,402
i 7,441
< 2,480
[ia 2,481
OEE= 1,640,000 1,640




EX: S22
Bu: 2394 2EBR
Sl AEXIXZ O 25 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 984
= 328
= 328
201 gEt24Hy| 8,660 6,480 2,180
= 5,196
& 1,732
= 1,732
02 B32%H| 8,660 6,480 2,180
QU FIIs A2 & JIEtM S|
8,660,000 8,660
= 5,196
= 1,732
= 1,732
S THE X AIAE =AY 15,500 15,500 0
= 10,850
= 2,325
= 2,325
201 gEt24Ay| 15,500 15,500 0
= 10,850
= 2,325
= 2,325
01 AP 22| d| 10,000 10,000 0
Os2AMESHds2Ae 2SS
10,000,000 10,000
= 7,000
= 1,500
= 1,500
02 B232%H| 5,500 5,500 0
OSSAMNUHSEUTHAIE R A 22 5,500,000& 5,500
= 3,850
o= 825
= 825
2IINE S ME S 1,022,857 414,203 608,654
= 672,000
= 122,800
= 228,057
2IKE S3HELAIE 1,022,857 414,203 608,654
= 672,000
o= 122,800
= 228,057
401 Al HI L 2 0HHI 722,857 414,203 308,654
= 462,000
=} 91,300
= 169,557
01 A& H| 717,312 410,457 306,855
OUEA Cis4ag =AY 218,416,000& 218,416
= 152,416
= 23,100
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2N

2522
M Foms 2E2L
el XN SEHE S (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 42,900
O3 E F=HEH 99, 100, 000& 99,100
= 69,100
< 10,500
s 19,500
OS3ANUNEY B2352 DAIE &HH L =
Z 4 XS A 181,540,000 181,540
= 126,683
< 19,200
s 35,657
OEAMllE AEEH B 138,992, 000& 138,992
= 68,992
< 24,500
e 45,500
OHHblE A B+ 79,264,000 79,264
= 39,264
< 14,000
= 26,000
03 AIE 20 HI 5,545 3,746 1,799
OWUAA CHEAE =HAH 20Ul
220,000,000% *0.72/100 1,584
= 1,584
OdFE2E FHIH RUHI
100,000,000& *0.90/100 900
= 900
OS3ANUEY B2 DAMIE SH L i
XS A 204l 182,857,000 *0.72/100 1,317
= 1,317
OgMOtE AFE S0
140,000,000& *0.72/100 1,008
= 1,008
OEAHOE AFE R0
80,000, 000& *0.92/100 736
= 736
402 2I2H X201 M 300,000 0 300,000
= 210,000
< 31,500
[ia 58,500
01 2I2tR2E X 300,000 0 300,000
OYHA SAE FHEHYI 300,000, 000& 300,000
= 210,000
< 31,500
[ia 58,500
EXNEBEZAME = 520,000 611,548 A91,548
< 351,000
e 169,000
EXE RHAMEBLBUAG[E2H] 520,000 611,548 ~91,548
< 351,000
e 169,000




2AMd: 2322
M Foms 2E2L
ool SXNFSHHES (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al I 28I 520,000 611,548 A 91,548
< 351,000
e 169,000
01 A& HI 515,500 607, 143 A 91,643
OssgsllgussEY FHEY
99,100, 000& 99,100
< 66,600
e 32,500
OstEan s, AM E=FHl 119,136,000& 119,136
< 80,136
s 39,000
Od2dd Z=Fl 99,100, 000& 99,100
< 66,600
e 32,500
OWEZIMDIt F=HEHI 19,784,000 19,784
= 13,284
s 6,500
Oadgel =MD E=Fl 89,190,000 89,190
< 59,940
e 29,250
OXL&el Otof=Eaz dg=z Fl
89,190,000 89,190
< 59,940
= 29,250
03 AIE 2 0H bl 4,500 4,405 95
OS+g4llgMsS2d FHIY 20
100,000,000& *0.90/100 900
< 900
OdtdEetn s A 2348 20U
120,000,000& *0.72/100 864
= 864
OE2d E=Fd R0l
100,000,000% *0.90/100 900
< 900
OU=Eel STADIF =HEH 20|
20,000,000& *1.08/100 216
< 216
O4adgel ZMDIF ExFdl 20|
90,000, 000& *0.90/100 810
< 810
O&del Ot a= M2 ZHl £
90,000, 000& *0.90/100 810
< 810
JIEtZ S AL 270,000 425,000 A 155,000
< 5,000
= 265,000
SEHTHFH I ALY 260,000 85,000 175,000
401 Al HI 2 28I 260,000 85,000 175,000




EX: S22
Bu: 2394 2EBR
E2: JIEI23HTHAIY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 258,560 85,000 173,560
OO E-HI & & B 1,666,550 *6IH A~ 10,000
O=23sM 21284+ 50,000,000 = 1A! 50,000
d2AA =XHE ZHAS 198,560,000& * 14! 198,560
03 Al 201 Y| 1,440 0 1,440
LAAL F=EXNE ZHAIE AIE 20|
200,000, 000& *0.72% 1,440
JIEI2S ALY Bd 10,000 120,000 A 110,000
o=} 5,000
= 5,000
401 Al HI L 2 0HHI 10,000 120,000 A 110,000
= 5,000
= 5,000
01 Al& H| 10,000 120,000 A 110,000
O 23 M=H sHEH L AAI22 K&
10,000,000 10,000
o= 5,000
= 5,000
Ct¢otD Xgsie 228 1,035,213 2,621,103 A 1,585,890
J| 93,805
= 15,670
= 925,738
AAEHEEO MetA =X 936,273 855,209 81,064
J| 93,805
& 15,670
= 826,798
AB=EEE ME i £ 59,000 68,500 A9,500
201 LBt Y| 59,000 68,500 A 9,500
01 AP 22| d| 55,000 65,000 A 10,000
Ogtf=2H| 55,000
0. 2Z=2HES M2 1,000&*7,5002+23] 15,000
0.2013 At 2= I &
8,000 %3,7508 30,000
0. 2ZJ|88 M= 2,000 *5,000H 10,000
02 32%H| 4,000 3,500 500
OB EE RES 2,000 «2,0000H 4,000
AHOIDIX UP EEEE 536,550 549,545 N 12,995
201 Bt 485,070 523,065 A 37,995
01 AP 22| H| 479,070 479,070 0
Ogst=2H| 477,600
0O.08dZo =210
6,000,000 *20H A~ *12& 144,000
0.CHE AIXIGSHE XHLH & 10|
3,000,000 *20H A~ *12& 72,000
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fAH: S2st22 1
M CQED HEsE BRER
ool BBEPERSO AN =T CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0.20/EZ & Z |
4,500,000& M A+12& 162,000
0.==dUsus &4l
150,000& x20CH » 12& 36,000
0.2ZHA & AAHA QR 2 10H|
120,000& =40CH 128 57,600
0. 2FMWMRIZE 2HIZ A KL=l
500,000& =128 6,000
OSH (ZZAELRFZX) 7,000& x32!+70 1,470
02 =24l 6,000 43,995 A 37,995
O232= % HAl 6,000
0.0 Z2NE (M= 40 HIIRS
500,000& = 12& 6,000
202 Oddl 8,480 6,480 2,000
01 = LH 4 1 8,480 6,480 2,000
OZZUELRFANHI 180,000 »321«12& 6,480
OLzuets L 3= (5,5 ,0E)
100,000 221 x10& 2,000
401 AIEHI L 201 43,000 20,000 23,000
01 A& HI 43,000 20,000 23,000
OoorgZ2ngt 228 Wi 20,000,000 204 &~ 40,000
OotgdZn® ZHAIE Fl 150,000& 204 3,000
Eot2BHLEA BSKA 113,097 90,000 23,097
J| 30,240
< 14,209
e 68,648
201 L2l 4,200 0 4,200
01 At 22l 4,200 0 4,200
Ot A 2R&3 A
350,000& »12H 4,200
301 et 8= 108,897 90,000 18,897
J| 30,240
= 14,209
s 64,448
12 JIE24d = 108,897 90,000 18,897
O2t2Zol& A X 108,897,000 108,897
J| 30,240
< 14,209
s 64,448
2EHEA SSIHLX R 27,900 21,960 5,940
201 et 600 600 0
01 At 22l 600 600 0
OgEer==EH| 600




fAH: S2st22 1
M O2otn ItEstE 22EE
ool BBEPERSO AN =T CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0.23t2Zol&A 2401013 7
200, 000& »3CH 600
301 et a = 20,100 15,600 4,500
10 HALAHI 242 12,600 12,600 0
O A 2L AL
200,000& 1221 43| 9,600
Ot A d3U3 & /38 4
250,000& 1221 % 13| 3,000
12 JEE4d =3 7,500 3,000 4,500
O2stZol& At EXF0 nsHl
15,000& *5003] 7,500
307 glz2tol & 7,200 5,760 1,440
02 QI2tFAB X 7,200 5,760 1,440
O2st2 2ol & At 319 ¥ s=IHLH K&
50,000& «122!«12& 7,200
2Z0HAHE 243E 86,500 111,500 A 25,000
201 ¢et24] 11,500 21,500 A 10,000
01 At 22l 1,500 1,500 0
OARELUANE RPN soy|
300,000& x53l 1,500
03 A2 Z Hl 10,000 20,000 A 10,000
oxzs=gs #o 2,000, 000& *52] 10,000
307 glz2+ol & 65,000 50,000 15,000
02 2ltF & 2R 5,000 0 5,000
OZJAAYUEHEYH W A2 2ZHSHAEHE
29 5,000,000 5,000
04 QIZEHALE & 60,000 50,000 10,000
OMEBHN2ZHRIAMUEIEH 2
200,000& x503! 10,000
OZHEN M=l 30,000,000& 30,000
OFRYzs FLEBSEARY
5,000,000& x23l 10,000
O HLEZMB AL XA 10,000, 000& 10,000
308 XXM SOl A 10,000 20,000 A 10,000
05 HXSHHMARE = 10,000 20,000 A 10,000
ONSALRBNEAS BSAY NZELS
10,000, 000& 10,000
22O HE X B A X 96,990 0 96,990
J| 52,200
fia 44,790
201 ¢4l 55,000 0 55,000
J| 27,500
s 27,500

_20_




EX: S22
Mz (2olD Xgst=E A2ES
el BREPESO BN 27 CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 55,000 0 55,000
OZZUHMAH P=ERNFAIS (T2 2 X
T) 5002 %110,0008 55,000
J| 27,500
o 27,500
401 AlEHIZL 2 0HY| 41,990 0 41,990
J| 24,700
= 17,290
01 Al&EH| 41,990 0 41,990
OZZUUHMH P=ERNFAIS (2N EX B A
xl) 41,990,000 = 14! 41,990
J| 24,700
= 17,290
O S HF > K AL 16,236 13,704 2,532
J| 11,365
& 1,461
= 3,410
301 et A= 16,236 13,704 2,532
J| 11,365
& 1,461
= 3,410
01 Al E& A 462 16,236 13,704 2,532
O eibt A 16,236,000& 16,236
J| 11,365
& 1,461
= 3,410
AL B Y 22 98,940 1,765,894 A 1,666,954
ZHE X J|BtAIE e 2% 98,940 65,894 33,046
101 e1214| 20,320 19,414 906
04 JI2tHIZ22NEE S 20,320 19,414 906
WXAEEEAI 22 122 17,209
(ORI R==] 38,880& x250 9,720
0.FX=¢ 38,880& 52 2,022
0.8x¢ 38,880& x12& 467
0.5222 38,880& 1.5 52 3,033
0.=2002H2dEEH= 15,240,960 *2.9% 442
0.=201AHZ3 15,240,960 x4 .5% 686
O.M4HES = 15,240,960 *4 . 0% 610
0,.1s28= 15,240,960 *1.4% 214
0. Q&I RAYEE 441%990& %3 . 28% 15
OYXAMEHEAIZ EHID|IEN
38,880& x50 1,944
O0ER2KEX 2o 38,880 30! 1,167
201 2et2 Y| 26,320 24,180 2,140
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fAH: S2st22 1
HE: ABTANL AL
e S22 NN AS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0.4t AIE= 20,0002 128 240
0.2st2e| A2 125,000 128 1,500
0.8%J Hdd==2 100,000 =10 1,000
0.520 BIIEAM =2 250,000& x 13l 250
0.8J]e+A 2te| ] 300,000 128 3,600
0.2 ZHAAE XNESx=+2
154,000& =12 1,848
B AL ALY 50,000 0 50,000
401 Al HIZ 201 8] 50,000 0 50,000
01 A& HI 50,000 0 50,000
O&sHiIl dE33xd 30,000,000& 30,000
OZ5w O3 2xHE 20,000, 000& 20,000
OtSt=2 23MY ZHAS 500,000 0 500,000
401 Al HIZ 201 Y| 500,000 0 500,000
01 A& HI 500,000 0 500,000
SAELE FHEFHAY 200,000, 000& 200,000
O 22X ANEEs & FHIAY
30,000,0002& =104 A& 300,000
Xelatd 2-2 O &AL 1,800,000 1,600,000 200,000
& 900,000
< 270,000
i 630,000
GANSE=2ME NS LAY 1,800,000 1,600,000 200,000
& 900,000
< 270,000
e 630,000
401 Al HIZ 201 8] 1,800,000 1,600,000 200,000
& 900,000
= 270,000
s 630,000
01 A& HI 1,793,520 1,594,240 199,280
OgANESE=2HE IS EE ALY
1,793,520,000& 1,793,520
= 900,000
< 270,000
[ia 623,520
03 A& 2 THHI 6,480 5,760 720
OYAMNESSHE NS EZLAY 20U
1,800,000, 000% *0.36/100 6,480
PR RS RE ST ) b= =) 1,859,006 1,576,916 282,090
& 1,129,000
= 198,250
e 531,756
NI P B ) =g =l g 37,326 22,406 14,920
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SHOABsHANEsS 30,000 30,000 0
& 18,000
< 4,500
s 7,500
308 XX EHHSOIA 30,000 30,000 0
& 18,000
< 4,500
s 7,500
05 HXHHMARE = 30,000 30,000 0
ORXelAASHIt2Z = AEKEAMY
30,000,000& 30,000
& 18,000
< 4,500
e 7,500
el 2xd 150,000 110,000 40,000
& 90,000
= 22,500
s 37,500
308 XX EHH SOl A 150,000 110,000 40,000
& 90,000
< 22,500
fia 37,500
05 HXHMARE = 150,000 110,000 40,000
OXeldrH 222 T H ALY 150,000,000 150,000
& 90,000
< 22,500
[ia 37,500
2Zotdol2 g 33,340 38,340 A5,000
= 20,000
= 5,000
[ia 8,340
308 XtXIEHH SOl A 33,340 38,340 A5,000
= 20,000
< 5,000
[ia 8,340
05 AXIHHLESES 33,340 38,340 A5,000
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& 20,000
< 5,000
s 8,340
A HEMSN 2L 2NN 600,000 600,000 0
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s 84,000
308 AHAIEHHSOIA 600,000 600,000 0
= 480,000
< 36,000
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Ostdx=s=s S4X& 30,0008 *10E 122 3,600
03 MtlEHHNEXZ 30,000 30,000 0
oudEz H=s 29 XA 15,000, 000& 15,000
OUEZ MEMSII2I XA 15,000, 000& 15,000
04 QIZHSHALE & 250,000 486,000 A 236,000
OMssd=s4X& 10,000, 000& 10,000
OZEMENSUHEE FIt NI
75,000,000 75,000
OHASSENSUHIIHA 30,000
0.M=3l 1,250,000& 12 &= 15,000
0.42x=3 1,250,000& 120 B = 15,000
OdttEZIN2HMEZAUZ WAl
20,000, 000& 20,000
Os(H)2 M=sUs Hal
2,000,000& 11 S 22,000
OHHESIE SIDYUEUSAL AT
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OM=elster e Al 5,000,000 5,000
ON2MMERSUE XA 8,000,0008 8,000
OAZTEGA Hoihsl &0t 6,000,0002! 6,000
OZALEXIANCIE &DF XI® 30,000,002 30,000
OE=2% #82 L CHANSBA &}
18,000, 000& 18,000
(OFSPARSI=RSESIN 10,000, 000& 10,000
OdeN=ss sS4 10,000, 000& 10,000
308 XAXIEHHSOIA 32,000 42,000 A 10,000
06 WSII20HEt2x= 32,000 42,000 A 10,000
o1l Msss s8N
4,000,000 *8J1 32,000
SHEHAE SYELXE 8,000 8,000 0
J| 4,000
i 4,000
301 et d = 8,000 8,000 0
J| 4,000
s 4,000
02 ¥et=stit= 8,000 8,000 0
OsHedisdrLddHaaXE
8,000,000& 8,000
J| 4,000
s 4,000
HEHS AHISAH 29 17,000 7,000 10,000
< 6,000
s 11,000
307 gl2tol & 17,000 7,000 10,000
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02 2ItF & E X 44,160 44,160 0
OSSN HGHENSNEN2E 44,160,000 44,160
J| 22,080
s 22,080
dEsa2sISHNE 47,000 0 47,000
= 22,000
= 25,000
307 21201 A 47,000 0 47,000
< 22,000
s 25,000
04 QIZHSHALE & 47,000 0 47,000
OZ&EEZXIAEY HE=E S W=l
47,000,000& 47,000
< 22,000
s 25,000
AZX HIRH™AY 21,908 21,908 0
J| 15,336
= 1,972
s 4,600
307 21201 A 21,908 21,908 0
J| 15,336
< 1,972
[ia 4,600
02 2ltF & E X 21,908 21,908 0
OAX X HIRHAS 21,908,000& 21,908
J| 15,336
< 1,972
e 4,600
COMSHa ALK S 110,000 0 110,000
307 glz2tol & 110,000 0 110,000
04 QIZHHALE = 110,000 0 110,000
O M= AKX 110,000, 000 110,000
HEUSX MSUHIHE XA 240,000 0 240,000
307 glz2+ol & 240,000 0 240,000
04 QIZ2HHALE = 240,000 0 240,000
Od=a4AAN HUAMS JHx 70,000,000 70,000
Od=a REU3 M 100,000, 000& 100,000
O&=IE0W 203l H=al 45,000,000& 45,000
O&= LEE U HAl 25,000,000& 25,000
HEAME2dY 647,441 697,480 A 50,039
SSHSANE2Y 368,941 331,480 37,461
101 @124l 29,540 22,637 6,903
04 JIZHZ2Z2XNHESE S+ 29,540 22,637 6,903
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SR MSAL2S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSL2sTFHELHAURY
38,880& 201 x50 3,888
OXUSAF=HZHIAFY 38,8803 12«30 1,167
OH=EERZ 222 38,880& *x321 60 6,999
O2=F=HFH AR 38,880 121 +30 1,167
ORBIHNSUEHFHPY 2
38,880 121 x50 1,944
OdZNESd 222 10,055
0.712=2 38,8803 121 x200 7,776
0.=Xt=< 38,8803 «101%292 1,128
0.20AAEHZE 8,903,520& *2.9% 259
(ONIE="-R = = 8,903,520& *1.4% 125
OATHERZ 8,903,520& *4.0% 357
0.=221¢43 8,903,520& *4.5% 401
0.L0EIIQYEER 258,200& *3.27% 9
OMEMsXNEX el XA
60,0003 «6H x12& 4,320
201 LBt2E | 173,001 127,667 45,334
01 At 2t 2l 19,370 6,920 12,450
O e8| 10,500
0.83x2c83 ¢ 75,0003 *5JH A 43| 1,500
O.2UHSsZ X7 100, 0002 =304 3,000
HOSEI? 24HEAS DAALIRY
500, 0002 =14 500
0.7 ASEER FLY(HLEH)
1,200,000& =14 1,200
O.AUHMESZS 50l A28 ¢
200,000& *6IH 2 1,200
0.2k=2 250,000& »23| 500
0.83=JI00 & 2,400
0.&=t2tel Xt 2 st 200,000 »1H 200
O 88 HoIE=23 22H XA
100,000& *4& 152 3| 6,000
O=&l 2,870
0.3H(NEERFH) 7,000 &3 #5011 %70 2,450
0.HEEHAZR 7,000 #2021 %30 420
02 =224l 153,631 120,747 32,884
032323 2 HA 146,431
0.8JI0td B2 845,000& »12& 10,140
0.¢st2e|gRUHe =2 323,000 122 3,876
0301223 14,520 128 175
0.87122 125,700
odUM=E2 IIR=a  3,500,000& 123 42,000
oMEZM=EZE MIIR3 850,000 12 10,200
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N AFS NSEE L
EE B ENELEX (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o3d2sE NMIIRS 2,000,000& x12& 24,000
oMENESHEH HIR2
2,200,000& x12& 26,400
oHUA ,ZEE MIIR2 815,000 x12& 9,780
ol ZESHY HIIRB 700,000& =128 8,400
o XNMSRE MILB 340,000& x12& 4,080
oAAL HFAE2S &IRB
70,000& x12& 840
0.406t=ER2=2 450,000 »12& 5,400
0.8322 70,000& x12& 840
SEAM =2 X2 300,000& *13] 300
OA & &Hl S XY 7,200
0.2Z2HMEAIES K22 1,700
=1 5,000& *300 %L 1,500
03 JI&® 4,000& x50 200
0.AAUMSZIHAEH SXE
500,000& *13] 500
0. &IHALEHRXNE S 500,000& *x13] 500
0.8IIA &2 XNES 500,000& *13] 500
0.M=ANES KA 228l 2,000,000 *2H 2~ 4,000
202 04| 7,800 6,000 1,800
01 2LHHI 7,800 6,000 1,800
OM=dR+=304l 130, 000& *5Q1 x12& 7,800
206 T2 HI 2,000 2,000 0
01 & bl 2,000 2,000 0
Ox==s&2sdl & 4, 0AIER Y
500,000& 43| 2,000
307 QI2t0| ™ 156,600 160,176 N3,576
05 A2t &2 156,600 160,176 N3,576
Oxg9 &, 02 &2t &
13,050,000& x12& 156,600
A2 MESALEES 278,500 226,000 52,500
401 Al HI L 2T 278,500 226,000 52,500
01 Al &bl 276,710 226,000 50,710
OdZEES 3t A @4Xeldl 20,000,000& 20,000
OdiZ-gEs =8228 & 10,000,000& 10,000
O33HMEANE S uA
3,000,000 =4 A 12,000
O3s3MEAE A72 £=2/=& 10,000,000 10,000
OAU+gE AXES WA 15,000,000& 15,000
OaU+Ed S, 2ne)| wAl
15,000,000& 15,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMFEZHHUAZ DIR2IZS2 A
78,210,000 78,210
OUMEZEZE HIUSME AEEZSA
50,000,000 50,000
OAEHUALY B2 S A 3,500,000 3,500
Od=M=s32d Y2 FHHIS A 30,000,000 30,000
OSYHE ARZHSALEES
3,000,000 115 ™ 33,000
03 AIE S THHI 1,790 0 1,790
OAL72 MSAMLEs 20U
248,500,000& *0.72/100 1,790
SEHSAE 2 1,203,553 3,065,696 A 1,862,143
& 200,000
s 1,003,553
g5 MEMSISE M 803,553 1,800,000 A 096,447
& 200,000
s 603,553
401 A& HIZ 201 I 803,553 1,800,000 A 996,447
& 200,000
[ia 603,553
01 A& HI 798,490 1,793,520 A 995,030
OYSMENSBAZ AL 798,490
0 NS4 AL 798,490,000 798,490
& 200,000
i 598,490
03 AIE 2 THHI 5,063 6,480 AT1,417
OLSMBHASDATLANY L0
803,553,000 * 0.63/100 5,063
ANEH=ESE ZdA 400,000 370,000 30,000
401 Al HI K 201 I 400,000 370,000 30,000
01 A& Bl 400,000 369,496 30,504
OQEHYEX Baz(22,622m) 350,000, 000& 350,000
OANEAHESH 50,000,000& 50,000
Hees (222 930,197 1,158,160 A 227,963
HEHHK = 912,478 1,158,160 A 245,682
M= EINS B 50,000 50,000 0
702 )I3HEES 50,000 50,000 0
(EPIE=RSE-—i= 50,000 50,000 0
O2st=dslI=zdE 50,000,000 50,000
SGHLAMNE M= 862,478 1,091,160 A 228,682
701 JIEISI AN E S 862,478 1,091,160 A 228,682
01 JIEtSIHE &3 862,478 1,091,160 N 228,682
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